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amOZr{V {dkmZ 
POLITICAL SCIENCE 

 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 100 

Time allowed : 3 hours Maximum Marks : 100 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 12 h¢ &  

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >27 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 12 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àíZ g§»`m 1 – 5 VH$ àË`oH$ EH$ A§H$ Ho$ h¢ & BZ àíZm| Ho$ CÎma àË`oH$ 20 eãXm| go 
A{YH$ Zht hmoZo Mm{hE & 

(iii) àíZ g§»`m 6 – 10 VH$ àË`oH$ Xmo A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma àË`oH$ 40 eãXm| go 
A{YH$ Zht hmoZo Mm{hE & 

(iv) àíZ g§»`m 11 – 16 VH$ àË`oH$ Mma A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma àË`oH$ 100 eãXm| go 
A{YH$ Zht hmoZo Mm{hE & 

(v) àíZ g§»`m 17 – 21 VH$ àË`oH$ nm±M A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma àË`oH$ 150 eãXm| 
go A{YH$ Zht hmoZo Mm{hE & 

(vi) àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr CÎma-nwpñVH$m _|  
{b{IE & 

(vii) àíZ g§»`m 22 – 27 VH$ àË`oH$ N>… A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma àË`oH$ 150 eãXm| go 
A{YH$ Zht hmoZo Mm{hE & 

General Instructions : 

(i) All questions are compulsory.  

(ii) Questions number 1 – 5 are of one mark each. The answers to these 
questions should not exceed 20 words each. 

(iii) Questions number 6 – 10 are of two marks each. The answers to these 
questions should not exceed 40 words each. 

(iv) Questions number 11 – 16 are of four marks each. The answers to these 
questions should not exceed 100 words each. 

(v) Questions number 17 – 21 are of five marks each. The answers to these 
questions should not exceed 150 words each. 

(vi) Question number 21 is a map-based question. Write its answers in your 
answer-book. 

(vii) Questions number 22 – 27 are of six marks each. The answers to these 
questions should not exceed 150 words each. 

1. ‘Am{g`mZ e¡br’ go Š`m A{^àm` h¡ ? 1 

What does ‘ASEAN Way’ stand for ? 

2. ‘H$m±J«og qgS>rHo$Q>’ Ho$ CX²^d H$mo ñnîQ> H$s{OE & 1 

Explain the origin of Congress Syndicate. 
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3. em°H$ Woaonr H$mo {H$g gr_m VH$ gmå`dmX go ny±OrdmX H$s Va\$, g§H«$_U H$m g~go ~ohVa 
VarH$m H$hm Om gH$Vm h¡ ? 1 
How far can Shock Therapy be called the best way to make the transition 

from Communism to Capitalism ? 

4. ^maV _| 1989 go 2014 Ho$ H$mb H$mo JR>~ÝYZ H$s gaH$mam| H$m `wJ Š`m| H$hm OmVm h¡ ? 1 

Why is the period from 1989 to 2014 called an era of coalition 

governments in India ?  

5. OZ AmÝXmobZm| H$mo hVmoËgm{hV Š`m| Zht {H$`m OmZm Mm{hE ? 1 
Why should popular movements not be discouraged ?  

6. AmpÊdH$ h{W`mam| Ho$ {H$gr EH$ ZH$mamË_H$ Am{W©H$ à^md H$mo ñnîQ> H$s{OE & 2 
Explain any adverse economic impact of Nuclear Weapons. 

7. gmå`dmXr Xb Ho$ ê$n _| EH$-Xbr` àUmbr, gmo{d`V OZVm Ho$ {bE Agh_{V Am¡a 
Ag§Vmof H$m òmoV Š`m| ~Z JB© ? 2 
Why did the one-party system, represented by the Communist Party, 

become a source of dissent and dissatisfaction among the Soviet people ? 

8. AnZo Amg-nmg Ho$ joÌ H$s àXÿfU go ajm Ho$ {bE H$moB© Xmo Cnm` gwPmBE & 2 1=2 
Suggest any two measures to protect your surroundings from pollution. 

9. àW_ VrZ Am_ MwZmdm| _| ^mJ boZo dmbr ^maV H$s {H$Ýht Mma amOZr{VH$ nm{Q>©`m| H$m 

CëboI H$s{OE &  4 

2

1
=2 

Mention any four political parties of India which participated in the first 

three general elections.  

10. d¡ídrH$aU Ho$ AmbmoMH$ Am{W©H$ ÑpîQ> go {H$Z Xmo joÌm| H$mo nwZñWm©{nV H$aZm MmhVo h¢ ? 2 1=2 
The critics of globalisation want which two areas to be revived 

economically ? 

11. ‘àW_ Im‹S>r `wÕ>’ Ho$ KQ>ZmH«$_ H$m dU©Z>> H$s{OE & 4 

Describe the events of the ‘First Gulf War’. 

12. ^maV H$s na_mUw$ Zr{V Ho$ {H$Ýht Xmo VÎdm| H$m CëboI H$s{OE & 22=4 
State any two elements of India’s Nuclear Policy. 

13. gwajm H$s Am§V[aH$ VWm ~mø Anmaån[aH$ YmaUmAm| H$s ì`m»`m H$s{OE & 2+2=4 
Explain the internal and external non-traditional notions of security. 
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14. X{bV n¢Wg© Ho$ ~¥hÎma {dMmaYmamË_H$ H$m ©̀gyMr (EO|S>o) H$mo COmJa H$s{OE & do Bgo nyam 
H$aZo _| H$hm± VH$ g\$b hþE ? 2+2=4 

Highlight the larger ideological agenda of the Dalit Panthers. How far 

were they successful in achieving it ? 

15. Cg g_` H$s n[apñW{V`m| Ho$ AmYma na amÁ` nwZJ©R>Z Am`moJ H$s ñWmnZm H$mo Ý`m`mo{MV 
{gÕ H$s{OE & 4 

Justify the constitution of States Reorganisation Commission under the 

circumstances prevailing at that time. 

16. JR>~ÝYZ H$s gaH$mam| Ho$ {H$Ýht Xmo ZH$mamË_H$ n[aUm_m| H$mo COmJa H$s{OE & 2 2=4 
Highlight any two negative outcomes of the coalition governments. 

17. ZrMo {XE JE AdVaU H$m AÜ``Z H$s{OE VWm {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 2+1+2=5 

B§{Xam Jm±Yr EH$ H$Ômda ZoVm Ho$ ê$n _| C^ar Wt Am¡a CZH$s bmoH${à`Vm AnZo Ma_ na  
Wr & Bg Xm¡a _| XbJV à{VñnYm© H$ht µÁ`mXm VrIr Am¡a Y«wdrH¥$V hmo Mbr Wr & Bg Ad{Y 
_| Ý`m`nm{bH$m Am¡a gaH$ma Ho$ Amngr [aíVm| _| ^r VZmd AmE & gdm}ƒ Ý`m`mb` Zo 
gaH$ma H$s H$B© nhbH$X{_`m| H$mo g§{dYmZ Ho$ {déÕ _mZm & H$m±J«og nmQ>u H$m _mZZm Wm {H$ 
AXmbV H$m `h ad¡`m bmoH$V§Ì Ho$ {gÕm§Vm| Am¡a g§gX H$s gdm}ƒVm Ho$ {déÕ h¡ & H$m±J«og Zo 
`h Amamon ^r bJm`m {H$ AXmbV EH$ `WmpñW{VdmXr g§ñWm h¡ Am¡a `h g§ñWm µJar~m| H$mo 
bm^ nhþ±MmZo dmbo H$ë`mU-H$m`©H«$_m| H$mo bmJy H$aZo H$s amh _| amo‹S>o AQ>H$m ahr h¡ & H$m±J«og 
Ho$ {dnj _| Omo Xb Wo, CÝh§o bJ ahm Wm {H$ gaH$mar àm{YH$ma H$mo {ZOr àm{YH$ma _mZH$a 
BñVo_mb {H$`m Om ahm h¡ Am¡a amOZr{V hX go µÁ`mXm ì`{º$JV hmoVr Om ahr h¡ &  
(i) àYmZ_§Ìr Ho$ ê$n _| B§{Xam Jm±Yr H$s {H$Z Xmo CnbpãY`m| Zo Cgo EH$ H$Ômda VWm 

AË`§V bmoH${à` ZoVm ~Zm {X`m ? 
(ii) gdm}ƒ Ý`m`mb` Ûmam Ag§d¡Ym{ZH$ H$ho OmZo dmbo {H$gr EH$ gaH$mar à`mg H$s 

nhMmZ H$s{OE & 
(iii) µJar~m| H$mo bm^ nhþ±MmZo dmbo CZ H$ë`mUH$mar H$m`©H«$_m| H$mo COmJa H$s{OE {OÝh§o 

H$m±J«og bmJy H$aZm MmhVr Wr & 
Study the passage given below and answer the questions that follow : 

Indira Gandhi had emerged as a towering leader with tremendous 

popularity. This was also the period when party competition became 

bitter and polarised. This period also witnessed tensions in the 

relationship between the government and the judiciary. The Supreme 

Court found many initiatives of the government to be violative of the 

Constitution. The Congress party took the position that this stand of the 

Court was against the principles of democracy and parliamentary 

supremacy. The Congress also alleged that the Court was a conservative 
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institution and it was becoming an obstacle in the way of implementing 

pro-poor welfare programmes. The parties opposed to the Congress felt 

that politics was becoming too personalised and that governmental 

authority was being converted into personal authority. 

(i) Which two achievements of Indira Gandhi as the Prime Minister 

made her a towering leader with tremendous popularity ? 

(ii) Identify any one initiative of the government which was found 

unconstitutional by the Supreme Court. 

(iii) Highlight the pro-poor welfare programmes which the Congress 

wanted to implement. 

18. ZrMo {XE JE AdVaU H$mo Ü`mZ go n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 1+2+2=5 

  g§`wº$ amÁ` A_arH$m Zo OmnmZ Ho$ Xmo eham| ....... na na_mUw ~_ {JamE & ....... 

A_arH$m Ho$ g_W©H$m| H$m VH©$ Wm {H$ `wÕ H$mo µOëXr-go-µOëXr g_má H$aZo VWm A_arH$m 
Am¡a gmWr amîQ´>m| H$s AmJo H$s OZ hm{Z H$mo amoH$Zo Ho$ {bE na_mUw ~_ {JamZm µOê$ar Wm & 
....{díd `wÕ H$s g_mpßV H$m n[aUm_ `h hþAm {H$ d¡pídH$ amOZr{V Ho$ _§M na Xmo 
_hme{º$`m| H$m CX` hmo J`m Omo {díd H$s {H$gr ^r KQ>Zm H$mo à^m{dV H$aZo H$s j_Vm 
aIVr Wt & 

(i) {ÛVr` {díd `wÕ Ho$ ~mX d¡pídH$ amOZr{V Ho$ _§M na CX` hmoZo dmbr Xmo 
_hme{º$`m| H$s nhMmZ H$s{OE & 

(ii) BZ Xmo _hme{º$`m| Ho$ CX` hmoZo Ho$ n[aUm_ H$s ì`m»`m H$s{OE & 

(iii) ò e{º$`m± {díd _| H$ht ^r KQ>Zo dmbr KQ>ZmAm| H$mo H¡$go à^m{dV H$a gH$Vr 
Wt ? ñnîQ> H$s{OE & 

Read the given passage carefully and answer the following questions : 

 The United States dropped two atomic bombs on the Japanese 

cities of ..... . The supporters of U.S. have argued that the dropping of the 

atomic bomb was necessary to end the war quickly and to stop further 

loss of American and Allied lives. ..... the consequence of the end of the 

Second World War was the rise of two new powers on the global stage 

with the ability to influence events anywhere on earth.  

(i) Identify the two new powers that rose on the global stage after the 

Second World War.  

(ii) Explain the outcome of the emergence of these two new powers. 

(iii) How could these powers influence events anywhere on earth ? 

Explain.             
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19. ZrMo {XE AdVaU H$mo Ü`mZ go n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 1+2+2=5 

 AmµOmXr Ho$ dº$ qhXþñVmZ Ho$ gm_Zo {dH$mg Ho$ Xmo _m°S>b Wo & nhbm CXmadmXr-ny±OrdmXr 
_m°S>b Wm & `yamon Ho$ A{YH$Va {hñgm| Am¡a g§`wº$ amÁ` A_arH$m _§o `hr _m°S>b AnZm`m 
J`m Wm & Xÿgam g_mOdmXr _m°S>b Wm & Bgo gmo{d`V g§K Zo AnZm`m Wm & .... Cg dº$ 
qhXþñVmZ _| ~hþV-go bmoJ {dH$mg Ho$ gmo{d`V _m°S>b go Jhao Vm¡a na à^m{dV Wo & Eogo bmoJm| 
_| ^maVr` H$å`w{ZñQ> nmQ>u Ho$ hr Zht ~pëH$ gmoe{bñQ> nmQ>u Am¡a IwX H$m±J«og Ho$ Zohê$ VH$ 
em{_b Wo & A_arH$s VO© Ho$ ny±OrdmXr {dH$mg Ho$ n¡amoH$ma ~hþV H$_ Wo & 
(i) ñdV§Ì ^maV Ho$ gå_wI {dMmamYrZ AmYw{ZH$ {dH$mg Ho$ Xmo _m°S>bm| Ho$ ~rM AÝVa 

ñnîQ> H$s{OE & 
(ii) ^maV Zo {dH$mg Ho$ {H$g _m°S>b H$mo AnZm`m Am¡a Š`m| ? 
(iii) ny±OrdmXr _m°S>b H$m g_W©Z ~hþV hr H$_ ^maVr` ZoVmAm| Zo Š`m| {H$`m ? 
Read the given passage carefully and answer the following questions : 

On the eve of Independence, India had before it, two models of modern 

development : the liberal – capitalist model as in much of Europe and the 

U.S. and the socialist model as in the U.S.S.R. There were many in India 

then who were deeply impressed by the Soviet model of development. 

These included not just the leaders of the Communist Party of India, but 

also those of the Socialist Party and leaders like Nehru within the 

Congress. There were very few supporters of the American style 

capitalist development. 

(i) Differentiate between the two models of  modern development 

under consideration before independent India. 

(ii) Which model of development did India adopt and why ? 

(iii) Why did very few Indian leaders support the capitalist model ?     

20. {XE JE H$mQ>©yZ H$m AÜ``Z H$s{OE VWm {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :  1+2+2=5 

  

MrZ 
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(20.1) MrZ H$mo {XImZo Ho$ {bE gmB{H$b H$mo Š`m| MwZm J`m ? 

(20.2) gmB{H$b Ho$ XmoZmo§ n{h`m| _| {XImE JE {M• Š`m h¢ ? `o {M• H$m¡Z-gr Xmo Am{W©H$ 
{dMmaYmamAm| H$m à{V{Z{YËd H$aVo h¢ ? 

(20.3) `h H$mQy>©Z Š`m gÝXoe XoVm h¡ ? 

Study the cartoon given below and answer the following questions : 

  

 

(20.1) Why has the bicycle been chosen to represent China ? 

(20.2) What do the symbols within the two wheels stand for ? Which two 

economic ideologies do the symbols represent ?  

(20.3) What message does the cartoon convey ? 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 20 Ho$ ñWmZ na h¢ &  
Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 20. 

(20.1) g§`wº$ amÁ` A_arH$m VWm MrZ H$s Am{W©H$ Zr{V`m| Ho$ ~rM A§Va ñnîQ> H$s{OE & 

(20.2) C^aVr hþB© MrZr AW©ì`dñWm Ho$ ZH$mamË_H$ à^mdm| H$m AmH$bZ H$s{OE & 2+3=5 

(20.1) Differentiate between the economic policy of the U.S. and that of 

China. 

(20.2) Assess the negative impacts of the rising Chinese economy.  

CHINA 
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21. {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ _|, nm±M amÁ`m| H$mo                     VWm     

     Ûmam {M{•V {H$`m J`m h¡ & ZrMo Xr JB© OmZH$mar Ho$ AmYma na BZH$s nhMmZ H$s{OE 

Am¡a CÎma-nwpñVH$m _§o CZHo$ ghr Zm_, CZH$s H«$_ g§»`m VWm gå~pÝYV Aja g{hV  

{b{IE : 51=5 

(i) Vob§JmZm, ^maV H$m 29dm± amÁ` & 
(ii) dh amÁ` Ohm± H$m±J«og nmQ>u H$m ZmJnwa A{YdoeZ 1959 _| hþAm & 
(iii) dh amÁ` {Ogo nhbo _Ðmg amÁ` H$hm OmVm Wm ? 

(iv) dh amÁ` {Oggo gmå`dmXr ZoVm B©.E_.Eg. Zå~yXarnmX H$m gå~ÝY Wm & 
(v) ñdV§Ì ^maV H$s àW_ ñdmñÏ` _§Ìr, amOHw$_mar A_¥V H$m¡a H$m J¥h amÁ` & 
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In the given political outline map of India, five States are marked as 

                             and     . Identify them with the help of the information 

given below and write their correct names in your answer-book along 

with the serial number of the information used and the related alphabet 

in the map : 

(i) The 29th State of India, Telangana. 

(ii) The State where Nagpur Session of the Congress Party was held in 
1959. 

(iii) The State which used to be called the Madras State earlier. 

(iv) The State to which the Communist leader E.M.S. Namboodiripad 
belonged. 

(v) The home State of Rajkumari Amrit Kaur, the first Health 

Minister of free India. 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ na 
h¢ : 

Note : The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 21 : 

 

(21.1) 1960 VH$ g^r {dnjr Xbm| Zo bmoH$ g^m _| Š`m ^y{_H$m {Z^mB© Wr ?  

(21.2) Hw$N> H$m±J«ogr ZoVmAm| Zo H$m±J«og H$mo N>mo‹S>H$a ñdV§Ì nmQ>u H$s ñWmnZm Š`m| H$s ? 

(21.3) {dMmaYmam Ho$ AmYma na, OZ g§K {H$g àH$ma AÝ` Xbm| go {^Þ Wr ? 2+2+1=5 

(21.1) What  role did the opposition parties play in the Lok Sabha up to 

1960 ? 

(21.2) Why did some Congressmen leave the Congress and form the 

Swatantra Party ? 

(21.3) How was the Jana Sangh different from other parties in terms of 

ideology ? 

22. Oå_y VWm H$í_ra H$mo EH$ {ddmXJ«ñV VWm g§Kf©-`wº$ amÁ` ~ZmZo dmbo ~mø Ed§ Am§V[aH$ 
H$maUm| H$m dU©Z H$s{OE & 3+3=6 

AWdm 

 ^maVr` {H$gmZ `y{Z`Z H$s {H$Ýht Mma _m±Jm| H$s gyMr ~ZmBE & CZHo$ AmÝXmobZ Ho$ Š`m 
n[aUm_ {ZH$bo ? 6 

Describe the external and internal reasons that made Jammu & Kashmir 

a controversial and conflict-ridden State.  

OR 

List any four demands of the Bharatiya Kisan Union. What were the 

outcomes of their movement ? 

23. d¡ídrH$aU Zo ^maV H$mo H¡$go à^m{dV {H$`m h¡ Am¡a ^maV d¡ídrH$aU H$mo H¡$go à^m{dV H$a 
ahm h¡ ? Cn ẁº$ VH$mªo Ûmam AnZo CÎma H$s nw{ï> H$s{OE & 6 

A>Wdm 

 ‘‘gmPr {µOå_oXm[a`m± bo{H$Z AbJ-AbJ ^y{_H$m’’ — Bg {gÕmÝV H$m CXmhaU g{hV 
narjU H$s{OE & 6 
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How has globalistion impacted on India and how is India in turn 

impacting on globalisation ? Support your answer with suitable 

arguments. 

OR 

Examine the concept of ‘‘Common but differentiated responsibilities’’ with 

the help of examples. 

24. 1975 go nhbo, H$m±J«og gaH$ma Ho$ {déÕ {damoY àXe©Zm| Ho$ {H$Ýht VrZ H$maH$m| H$s ì`m»`m 
H$s{OE & 3 2=6 

AWdm 

 CZ n[apñW{V`m| H$mo ñnîQ> H$s{OE, {OZHo$ AÝVJ©V 1969 _| amîQ´>n{V H$m {Zdm©MZ hþAm ? 

Bg {Zdm©MZ Ho$ n[aUm_ Zo H$m±J«og nmQ>u H$mo H¡$go à^m{dV {H$`m ? 3+3=6 

Explain any three factors that led to protests against the Congress 

Government before 1975.  

OR 

Explain the circumstances under which the Presidential election of 1969 

was held. How did the outcome of this election affect the Congress Party ?  

25. gmo{d`V àUmbr H$s {H$Ýht VrZ {deofVmAm| H$m dU©Z H$s{OE & 3 2=6 

A>Wdm 

 _hme{º$`m| H$mo NmoQ>o Xoem| Ho$ gmW g¡Ý` JR>~§YZ ~ZmZo Ho$ {bE {H$Z n[apñW{V`m| Zo ~mÜ` 
{H$`m ? dU©Z H$s{OE & 6 

Describe any three features of the Soviet system.  

OR 

What circumstances compelled the super-powers to have military 

alliances with smaller countries ? Describe.   



59/2/2 12 

26. ‘‘A_arH$m Ho$ gmW gå~ÝYm| _| gwYma bmZm ^maV Ho$ {bE AË`{YH$ _hÎdnyU© h¡ &’’ Š`m 

Amn Bg H$WZ go gh_V h¢ ? Cn ẁº$ VH$mªo Ûmam AnZo CÎma H$s nwpîQ> H$s{OE & 6 

A>Wdm 

 X{jU E{e`m Ho$ Xoem| Ho$ ~rM Am{W©H$ gh`moJ H$s amh V¡`ma H$aZo _| Xjog (gmH©$) H$s 

^y{_H$m Am¡a gr_mAm| H$m _yë`m§H$Z H$s{OE & 6 

‘‘It is very important for India to improve its relations with the U.S.’’. Do 

you agree with this statement ? Support your answer with suitable 

arguments. 

OR 

Evaluate the role and limitations of SAARC as a forum for facilitating 

economic cooperation among Asian countries.  

27. g_H$mbrZ {díd _| g§`wº$ amîQ´> O¡gr AÝVam©îQ´>r` g§ñWmAm| Ho$ _hÎd H$m AmH$bZ H$s{OE & 6 

A>Wdm 

 µJar~r, AmV§H$dmX Am¡a _hm_m[a`m| O¡go ˜Vam| H$m _wH$m~bm H$aZo Ho$ {bE ^maV H$mo {H$g 
àH$ma H$s gwajm H$mo àmW{_H$Vm XoZr Mm{hE  ? AnZo gwPmd Xr{OE  & 6 
Assess the importance of international organisations like the United 

Nations in the contemporary world. 

OR 

Suggest the type of security India should prefer to fight the threats like 

poverty, terrorism and epidemics.  

 


